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--------------------------------

- NOTE: There are three secllons of this paper. Carefully read the instructlons for each sechon and attempt
accordingly. Attempt all questions of Section-A and return it to the Supetintendent within given time,
aven if you have not altempted any question, Select the correct cheice and write only A, B, C or D,
. whichever is appropriate, in the answer box. No marks will be awarded for culting/erasing or overwriting.

Time: 20 Minutes . : ,1;TION~A A . Marks: 12

1. The mstrument used to measure the mternal diameter ofapipe is: A) mlcromeler B) vernier cahper :
C) cylinder; D) BAANGE ......ivvvvsivinivecssismasssumnnins seisssssesmismsmeesessistessssmmssesesssons e I

2. The average speed of a bus is I‘IOmS"1 How far'can it lravel in 10 seconds’? A} 100m, B) 200m,

C) 150m, D) 260m ............. 181 R RS 4 R R AR RSSO et B
3. Atmoon abody Weighs .......... limes less than al earth. A) four, B) two, C) six, D) three —r
4. Which one is the unil of weight? A) newton, B) kitugram, C) meter, D) ms™! oo s A
5. A 100N force acts along the x-axis. lts y-components is: A) ON, .B) 50N, C) 100N, D) 25N ..... O A
mv m"’v2 2mv mv2
8. Cenliipetal force is gwen by the equation: A) B) , C) O D
7. One joule (1J) is equal to: A) INx 1m, B) 1N, C)1N3xm D) nane of lhese .......................................... O]
8 lfithe speed of a body is halved, its KE becomes: A)double, B) 4 times; C) )" ............................ C
. Baromeler is used to measure: A) densny, B) vapour pressure, G) normal pressure,, - : -
D) AtMOSPENIC PIESSWIE ..vo.vvsevssrcrssvssinssmibstssismmsssssesesessnsise s D_I
10, 32°F is equal to; A) 32°C, B) 100°C, CPO°C, D) B0BC v st E
1. The best absorber of & radiation 1sab0dy whose suﬂace is A} white, B) grey, C) dull black,
- DYRIGIY PORSIEA  eovvvresivvisr s mesnssifontses s ssssssessssssssseossoseessso e sesseese s s C
12. The acceleration due lo grawtv is denoled by: A) mg, B) C) g, D) GM miR2 .................................... E
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SECTION-B .
MRarks: 32
_ Attempl any e|ght of the rollowmg. All carry equal marks

Why is drea calfed a denved quantlty’?

D|fferent|ate,between 'po_smve acceleration and negagive acceleration,
Define scalar and vector quaniities. - Give examples.
What is centrifugal force? Explain, -

Why does a helicopter has a secohd rotor atits tail? )

What s the differénce bétween Aforce" of gravity and force of gravitation?
Wiite the names of different forms of energy

State the law of conservallon of energy.

Stale two applications of atrospheric preséure used-at home.

Why liquids have two coefficients of expansion?

How are e iosses reduced in thermos flask?

SECTION-C |
Marhs: - 21

2 Altempl any three of the following questions. All questions carry equal marks.

Distinguish between base and derived physical quantities.

. Derive the equation of motion 2a8=vi-vl .

_D’efine_momenlu'm. Explain the law of conservation of momentum. 7
A force of 100N is applied perpendicufarly at a distance of 0.50m fo turn a nul
of the wheel of a bus. Find the torque acting on the nut.

- State and explain (he Newlon's law of universal gravitation, _
A man whose mass is 75kg, walks up a flight of 12 steps each 20cm high in
5 sec. Find the power he develops in walls.

State and explain Archimedes principle. -
Explain conduction of heat. Describe its three applicalions.



